
Complete the calculations to match the representations  
by typing the correct numbers in the boxes.

Multiply 2 Digits by 1 Digit

Tens Ones
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2 3

× 4

1

a)

b)

c)

1 7

× 5

4 2

× 4
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Multiply 2 Digits by 1 Digit
Patrick has used base ten to represent 48 × 3 and has given an answer of 124.  
Can you spot his mistake? Type your answer in the box below. 

Tens Ones

 
Marina has completed this calculation. Will says that this cannot be the correct  
answer. Who do you agree with? Explain your reasons.

4 8

× 3

1 2 4

2

5 6

× 4

4 4

2

2

3
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